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1. Stratified random sampling is a method of selecting a sample in which
a. the sample is first divided into strata, and then random samples are taken from each stratum

b. various strata are selected from the sample
c. the population is first divided into strata, and then random samples are drawn from each stratum

d. None of these alternatives is correct.

2. A population consists of 8 items. The number of different simple random samples of size 3 that can be
selected from this population is
a. 24
b. 56
c. 512
d. 128
3. If A and B are mutually exclusive events with P(A) = 0.3 and P(B) = 0.5, then
P(AUB)=
a. 0.00
b. 0.15
c. 0.8
d. 02
4. IfP(A)=0.80, P(B) = 0.65,and P(AUB) = 0.78, then P(B | A) =
a. 0.6700
b. 0.8375
¢c. 0.9750
d. 0.25
5. For a one-tailed test (upper tail}, a sample size of 18 at 95% confidence, t =
a. 2.12
b. -2.12
c. -1.740
d. 1.740
6. Whenever the population standard deviation is unknown and the population has a normal or near-normal

distribution, which distribution is used in developing an interval estimation?

a. standard distribution
b. z distribution

¢. beta distribution
d. tdistribution
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A random sample of 144 observations has a mean of 20, a median of 21, and a mode 0of 22. The population

If the test is being conducted

7.
standard deviation is known to equal 4.8. The 95.44% confidence interval for the popﬁlation mean is
a. 152t024.8 '
b. 19.200to 20.800
c. 19.216t020.784
d. 21.2t022.8
Exhibit AA
n=36 X =246 S=12 Ho: p<20
Ha p>20
8. Refer to Exhibit AA. The standardized test statistic equals
a. 23
b. 0.38
c. 23
d. -0.38
9. For a one-tailed hypothesis test (upper tail) the p-value is computed to be 0.034.
at 95% confidence, the null hypothesis
a. could be rejected or not rejected depending on the sample size
b. could be rejected or not rejected depending on the value of the mean of the sample
c. isnotrejected
d. isrejected
10. To construct an interval estimate for the difference bétween the means of two populations which are normally

distributed and have equal variances, we must use a t distribution with (let n; be the size of sample 1 and n the

size of sample 2)

a. (nj+ny) degrees of freedom

b. (m +n2- 1) degrees of freedom
c. (m+n-2)degrees of freedom

d my-m+2
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Exhibit BB

The following information was obtained from matched samples.
The daily production rates for a sample of workers before and after a training program are shown below.

‘Worker Before After
1 20 22
2 25 23
3 27 27
4 23 20
5 22 25
6 20 19
7 17 18
11. Refer to Exhibit BB. The null hypothesis to be tested is Ho: pa=0. The test statistic is
a. -1.96
b. 1.96
c. 0
d. 1.645
12. In an analysis of variance where the total sample size for the experiment is nr and the number of populations is

K, the mean square within treatments is
a. SSE/(ur-K)

b. SSTR/(nr-K)

c. SSE/(K-1)

d. SSE/K

Exhibit CC
f(x) =(1/10) e¥¥x>0

13. Refer to Exhibit CC. The mean of xis
a. 0.10

b. 10

c. 100

d. 1,000

14, Refer to Exhibit CC. The probability that x is between 3 and 6 is
a. 0.4512
b. 0.1920
¢. 0.2592
d. 0.6065
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15. In a regression model involving more than one independent variable, which of the following tests must be
used in order to determine if the relationship between the dependent variable and the set of independent
variables is significant?

a. ttest

b. Ftest

c. Either a t test or a chi-square test can be used.
d. chi-square test

16. In simple linear regression analysis, which of the following is not true?
a. The Ftestand the ttest yield the same results.
h. The Ftest and the t test may or may not yield the same results.
c. The relationship between X and Y is represented by means of a straight line.
d. Thevalue of F=12

Exhibit DD

The table below gives beverage preferences for random samples of girls and boys.

Girls Boys Total
Coffee 50 200 250
Tea 100 150 250
Soft Drink 200 200 400
Other _ 50 _ 50 __1o00

400 600 1,000

We are asked to test forindependence between age (i.e., boy and girl) and drink preferences.

17. Refer to Exhibit DD. With a .05 level of significance, the critical value for the test is

a. 1.645
b. 7.815
c. 14.067
d. 15.507

18. Refer to Exhibit DD. The expected number of boys who prefer coffee is

a. 0.25
b. 0.33
c. 150

d. 200
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Exhibit EE
Below you are given a partial computer output based on a sample of 7 observations, relating an independent
variable (x) and a dependent variable (y).
Predictor  Coefficient Standard Error
Constant 24.112 8.376

X -0.252 0.253

Analysis of Variance
SOURCE SS

Regression 196.893
Error 94.822

19. Based on Exhibit EE, to test for the significance of the slope, what is the t test statistics?

a. 3.222
b. 3.650
c. 3.986
d. 4.126

20. Based on Exhibit EE, to perform an F test, what is the F test statistic?

a. 9.766
b. 9.932
c. 10.382

d. 11.010
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